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XCO(].P) /G(JPC) _ 0+(0++)

XCO(]-P) MASS

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT

3414.71+ 0.30 OUR AVERAGE

3413.0 = 1.9 +0.6 933 1 AAL 178B LHCB pp — bbX —
2AKTKT)X

34142 + 05 +23 5.4k UEHARA 08 BELL ~y — x.g — hadrons

3406 + 7 46 230 2 ABE 07 BELL ete™ — J/¢(c?)

3414214+ 0.3940.27 ABLIKIM 056 BES2 9(25) — 7YX

34147 T 8-2 4+0.2 3 ANDREOTTI 03 E835 pp— xoo — nonl

34155 + 0.4 +0.4 392 4BAGNASCO 02 E835 Bp— xco— J/¥7

3417.4 T %-g +0.2 3 AMBROGIANI 998 E835 pp— elTe

3414.1 + 0.6 +0.8 BAI 998 BES  #(25) —» X

3417.8 + 0.4 +4 3 GAISER 86 CBAL ¢(25) —» X

3416 + 3 +4 5 TANENBAUM 78 MRK1 ete™

e o o We do not use the following data for averages, fits, limits, etc. o o o

34146 + 1.1 266 UEHARA 13 BELL ~v — K%K%

3416.5 + 3.0 EISENSTEIN 01 CLE2 eTe™ — eTe™ x.

3422 +10 5 BARTEL 788 CNTR ete™ — J/y2y

3415 + 9 5 BIDDICK 77 CNTR ete™ — ~X

1 Fr(I)m a fit of the ¢¢ invariant mass with the width of x o(1P) fixed to the PDG 16
value.

2From a fit of the J/1) recoil mass spectrum. Supersedes ABE,K 02 and ABE 04G.
3 Using mass of 1¥(2S) = 3686.0 MeV.
4 Recalculated by ANDREOTTI 05A, using the value of ¢)(2S) mass from AULCHENKO 03.

5 Mass value shifted by us by amount appropriate for ¢(2S) mass = 3686 MeV and
J/¢¥(1S) mass = 3097 MeV.

Xco(1P) WIDTH

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT
10.74+0.6 OUR FIT Error includes scale factor of 1.1.
10.5+0.8 OUR AVERAGE Error includes scale factor of 1.1.

10.64+1.942.6 5.4k UEHARA 08 BELL ~7v — xco — hadrons
126712109 ABLIKIM 056 BES2 (2S) = vxco

8.6 11+0.1 ANDREOTTI 03 E835 Pp— xoq— w00
9.74+1.0 392 1 BAGNASCO 02 E835 Bp— xeg — J/¥7
16.6 732 +0.1 AMBROGIANI 998 E835 Pp — el e ~
14.3+2.0+3.0 BAI 981 BES  ¢(2S) —» ynta—
13.54+3.3+£4.2 GAISER 86 CBAL (25) » X, ya9x0
e o o We do not use the following data for averages, fits, limits, etc. e o o

13.242.1 266 UEHARA 13 BELL vy — K%kQ
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1 Recalculated by ANDREOTTI 05A.

Xco(1P) DECAY MODES

Scale factor/

Mode Fraction (I';/T) Confidence level
Hadronic decays
M 2(xt7) (23 £0.4 )% $S=2.0
H p07r+ (9.1 +£3.1 ) x 103 S=1.1
! p°p°

M4 f5(980) f5(980)

s #ata a0x

6 ptn 7%+ cc.

F7 47TO

g 7mra  KTK™

My K5(1430)0K}(1430)°

TrTKTK™
Mo  K3(1430)°K5(1430)°+ c.c. —
Tt r KT K™
M1 K1(1270)+ K™+ cc. —
ata KT K™
F12 K1(1400)+ K~ + c.c. —
TrTKTKT
M13 fo(98 ) f(980)
14 f5(980) f5(2200)
15 fo(1370) f5(1370)
M6 fo(1370) f(1500)
17 fo(1370) fp(1710)
g fo(1500) f5(1370)
M9 fo(1500) f5(1500)
0 f0(1500) fo(1710)

[y KtK-atn— a0

o K% KEnFatnm

M3 KTK 7070

Moy KT K70+ cc

F25 p+ K~ K0+ C.C.

Me  K*(892)" Ktn0 —
Kt~ K70+ c.c.

F27 Kg Kg 7T+ o

Mg KTK nn0

Mg 3(nT77)

Mo KTK*(892)°7~ + c.c.
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(6.7 £2.1 ) x 10~4

(3.3 £0.4 ) %

(2.9 £0.4 ) %

(3.3 +£0.4 )x 1073

(1.8240.16) % S=1.2

(9.9 739 )x 1074

(80 729 )x1074

(6.3 £1.9 ) x 1073

<27 % 10—3 CL=90%
(16 59 )x1074
(79 T30 )x 1074
<27 x 10~ 4 CL=90%
<17 x 10—4 CL=90%

(67 33 )x1074

<13 x 10~ 4 CL=90%
<5 x 1072 CL=90%
<7 x 1072 CL=90%

(8.6 £0.9 ) x 10—3
(4.2 £0.4 ) x 103
(5.6 £0.9 ) x 10~3
(2.49+0.33) %
(1.2140.21) %
(4.6 +£1.2 ) x 1073

(5.7 +1.1 ) x 1073
(3.0 £0.7 ) x 103
(1.95+0.22) % S=3.3
(7.5 +£1.6 ) x 10~3
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K*(892)° K*(892)°
T
0y
o
™1
nn
'
'
ww
we
WwKTK™
KT K~
KSKS
mtan
W+W_n/
KoKt 7~ + cc.
K+t K= =0
K+K_no 0
+ —
STSTSTS
KTK=KtK™
KTK™ ¢
KOKtn~ ¢+ cc
KTK=m0¢
prtm 70
ol
P91
PP
ppml
PPN
ppw
ppP¢
pprt
ppr0 0
pp K™ K~ (non-resonant)
PPKSKS
pnm—
ﬁnﬁ+
pnm— T
ﬁnw+wo
AA
At~
AA7T 7~ (non-resonant)
>(1385)T An~ + c.c.

0

Page 3

(1.7 £0.6 ) x 103
(8.5 +0.4 ) x 10—3

<18 x 10—4
<11 x 103
<16 x 10—3

(3.0140.25) x 103
(9.1 +1.1 ) x 107>
(2.1740.12) x 103
(9.7 +1.1 )x 1074
(1.424+0.13) x 10~4
(1.9440.21) x 10—3
(6.07+0.33) x 10~3
(3.1740.19) x 103

<20 x 10~4
< 4 x 10~4
<9 x 105
<6 x 105
<23 x 10~4

(1.4 £0.5 ) x 1073
(5.8 £0.5 ) x 10~4
(2.8 £0.4 ) x 10~3
(9.7 +25 )x 1074
(3.7 £0.6 ) x 103
(1.9040.35) x 10—3
(1.18+0.15) x 103
(8.48+0.31) x 10~ 4
(8.4 +1.0 )x 1074
(2.214+0.14) x 10~4
(7.0 £0.7 ) x 10~4
(3.5 +0.4 )x 1074
(5.3 +0.6 ) x 10~
(6.0 +1.4 ) x 107>
(2.1 £0.7 ) x 1073
(1.0440.28) x 10~3
(1.224+0.26) x 10~ 4

< 8.8 x 10~ 4

(1.2740.11) x 10—3
(1.3740.12) x 103
(2.3440.21) x 10~3
(2.2140.19) x 10~3
(3.60+0.17) x 10~ 4
(1.1840.13) x 103

<5 x 10—4
<5 x 10—4

S=1.2

CL=90%
S=1.3

S=1.1

S=1.1
CL=90%
CL=90%
CL=90%
CL=90%
CL=90%

S=1.6
S=1.3

CL=90%

S=1.1

CL=90%
CL=90%
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M5 >(1385)" Art + c.c. <5 x 10~% CL=90%
M6 AAn (2.3 £0.4 ) x 1074
.7 KTpA+ cc. (1.2540.12) x 103 S=13
M6 nK%A +cc (6.7 £0.5 ) x 10~4
M9 K*(892)TpA+ c.c. (4.8 £0.9 ) x 1074
Fgo KTPA(1520)+ c.c. (3.0 £0.8 ) x 10~%
Mg1  /A(1520)A(1520) (31 £1.2 ) x 104
Mgy X030 (4.69+0.32) x 10—4
fg3 StPKL+ cc (3.5340.27) x 10~4
Mgs XO0BKT+ cc (3.0440.20) x 10~4
Mgs XTX— (47 +0.8 ) x 1074 S=26
Mg X X' (51 +0.5 ) x 10~4
Mg7 X (1385)" X (1385)~ (1.6 £0.6 ) x 10~4
Mgg X (1385)~ X(1385)" (23 +£0.7 ) x 10~4
g9 K A=T+cc (1.9540.35) x 104
Mg =020 (45 £05 ) x 1074 S=1.7
g7 = =T (4.47+0.20) x 10~4
Fgo 20T (35 +£0.6 ) x 1072
Foz3 Nemtm™ <7 x 10~4 CL=90%
Radiative decays
Foa  vJ/¥(1S) (1.4140.09) % S=1.7
Fos  vp° <9 x 100 CL=90%
Mo 7w <8 x 106 CL=90%
Fo7 ¢ <6 x 10~6 CL=90%
Fog 7Y (2.0440.10) x 10~4 S=1.1
Fg9 et e J/¥(1S) (1.3440.30) x 10~4
M0 pt ™ J/9(1S) <19 x 1072 CL=90%

CONSTRAINED FIT INFORMATION

A multiparticle fit to x.1(1P), xc0(1P), xc2(1P), and (25)
with 4 total widths, a partial width, 25 combinations of partial
widths obtained from integrated cross section, and 86 branching
ratios uses 253 measurements to determine 49 parameters. The
overall fit has a X2 = 389.6 for 204 degrees of freedom.

The following off-diagonal array elements are the correlation coefficients
<5pi5pj>/(5pi'5pj), in percent, from the fit to parameters p;, including the branching
fractions, x; = I;/Tiotal-
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X 47
Xg 8 4
X30 5 2 33
X3 2 1 8 3
X36 1 0 4 1 14
X490 3 1 8 3 21 12
X43 2 1 7 3 20 12 18
X51 4 2 5 2 6 4 6 6
X56 2 1 3 1 4 3 4 2
X5g 0 0 2 1 1 1 6 6 2 1
x71 1 1 8 2 26 16 23 22 6 5
X4 0 0 2 0 9 5 6 5 2 1
Xgg —10 -5 —4 —4 17 11 14 14 0 1
r —-22 =10 —-22 -12 -15 -7 —-16 —-14 12 —7
X1 X2 Xg  X30 X332 X36  X42  X43  X51  X56
Xx71 7
Xg4 —-37 7
Xog 4 20 8
r -3 14 -4 37
X58  X71  X94  Xog
Xc0(1P) PARTIAL WIDTHS
——— xco(1P) Ty J/(18))/ (total) ——
— Xco(1P) F(i)F(7y7)/T (total) ——
F2(r+a~)) x F(v7)/Ttotal M1Mgg/T
VALUE (eV) EVTS DOCUMENT ID TECN  COMMENT

51 + 8 OURFIT Error includes scale factor of 1.9.
49 410 OUR AVERAGE Error includes scale factor of 1.8.

4474+ 3.64+4.9 3.6k UEHARA 08 BELL vy — xc0— 2(7r+77_)

75 +13 +8 EISENSTEIN 01 CLE2 ete™ — ete x
0.0

r(P p ) X r(’Y'Y)/rtotal M3log/l

VALUE (eV) CL% EVTS DOCUMENT ID TECN COMMENT

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

<12 90 <252 UEHARA 08 BELL vy — xc0— 2(7r+77_)

r(7r+ n~ Kt K-) X r('Y'Y)/rtotal Fglog/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

40 +4 OURFIT Error includes scale factor of 1.1.

38.8+3.71+4.7 1.7k UEHARA 08 BELL vy — xc0— KtK atna—
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MK K=ot 7~ 7% x I'(y7)/Ttotal M1Mog/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

26+4+4 1094 DEL-AMO-SA..11M BABR ~vy — KtK—at 7= 0
M(KTK*(892)°7r+c.c.) x T(v7)/Ttotal 3olog/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

16 +4 OURFIT
16.7+£6.1+3.0 495+182 UEHARA 08 BELL ~y— xo — KTK 7tn—

(K*(892)°K*(892)°) x I'(v7)/Ttotal M310gg/l
VALUE (eV) CL% EVTS DOCUMENT ID TECN COMMENT

e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

<6 90 <148 UEHARA 08 BELL vy — xc0— KtK atza—
F(m7) x T(v7)/Teotal l32Mgg/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

18.7+ 1.5 OUR FIT Error includes scale factor of 1.2.
23 + 5 OUR AVERAGE

207 15 8+a8 103780 LUEHARA 09 BELL 10.6ete” — ete n0x0

227+ 32435 120418 2NAKAZAWA 05 BELL 106 ete™ — eTe nta—

Lwe multiplied the measurement by 3 to convert from 7070 to 77, Interference with

the continuum included.
We have multiplied 77 7~ measurement by 3/2 to obtain .

F(nm) x T(v7)/Teotal l36Mog/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT
9.4+2.3+1.2 22 1 UEHARA 10A BELL 106 ete™ — ete nn
L Interference with the continuum not included.
Mww) x F(v7)/Ttotal l3glgg/l
VALUE (eV) CL% DOCUMENT ID TECN COMMENT
e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
<3.9 90 Ly 128 BELL ~v — 2(zt 7~ #0)
1 Using B(w — 7t 7~ x0) = (89.2 + 0.7)%.
F(w¢) X r(’Y’Y)/ Mtotal a0l og/T
VALUE (eV) CL% DOCUMENT ID TECN COMMENT
e o e We do not use the following data for averages, fits, limits, etc. o o o
<0.34 90 Ty 128 BELL ~vy —» KtK otz 0
lUsing B(¢ - KT K™) = (48.9 £ 0.5)% and B(w — 77— x0) = (89.2 £ 0.7)%.
MKt K=) x F(v7)/Teotal 42log/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

13.3+1.1 OUR FIT Error includes scale factor of 1.1.
14.3+1.6+2.3 153 £17 NAKAZAWA 05 BELL 106 ete™ — ete " Kt K™
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M(KYKE) x T(v7)/Total l43log/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

7.0 £0.6 OUR FIT Error includes scale factor of 1.2.

8.7 +1.7 £0.9 266 1 UEHARA 13 BELL ~vy — K% K%

e o o We do not use the following data for averages, fits, limits, etc. o o o

7.00+£0.65+0.71 134 +12 CHEN 07B BELL eTe™ — eTe x
1 Supersedes CHEN 07B.

FMKTK=KtK™) x T(v7)/Ttotal Ms1Mog/T

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

6.24+1.0 OUR FIT Error includes scale factor of 1.5.

79+13+11 215+ 36 UEHARA 08 BELL vy — xc0— 2(KTK™)

M) x F(v7)/ eotal lselos/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

1.86+0.13 OUR FIT Error includes scale factor of 1.1.

1.7240.33+0.14 56 + 11 lLIU 128 BELL ~y — 2(KTK™)

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o
23 £0.9 +04 23.6 9.6 UEHARA 08 BELL v — xc0 — 2(K+ K™)
1 Supersedes UEHARA 08. Using B(¢ — KT K™) = (48.9 + 0.5)%.

Xc0(1P) BRANCHING RATIOS
— HADRONIC DECAYS ——

MO+ 7) /T (2t 7)) ra/M
VALUE DOCUMENT ID TECN COMMENT

0.39+0.12 OUR FIT

0.39:+0.12 TANENBAUM 78 MRK1 %(2S) = vxc0

I (5(980) (980)) /Ttotal la/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
6.7+2.1+0.2 36 +9 L ABLIKIM 046 BES  9(25) — ~2rt2n™

LABLIKIM 046 reports [[(xco(1P) —  f5(980)/(980)) /Tiorall X [B(¥(2S) —
¥Xc0(1P))] = (6.5 £1.6 £1.3) x 10~ which we divide by our best value B(¢/(25) —

YXxc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

NG 70 7r°) /Ttotal s/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
3.3+0.4+0.1 17514 lHE 088 CLEO ete™ — ~hth= hORO

L HE 08B reports 3.54 & 0.10 + 0.43 + 0.18 % from a measurement of [M(xco(1P) —
7T 7™ 7070) /T giall X [B(¥(2S) = vxo(1P))] assuming B(1(2S) — v xco(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(¥(2S) = vx0(1P))

= (9.77 £ 0.23) x 10~2. Qur first error is their experiment'’s error and our second error
is the systematic error from using our best value.
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Mptn~ 7%+ cc.)/Motal e/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.94+0.440.1 13585 L2HE 088 CLEO ete™ — ~hth= hORO

L HE 08B reports 3.04 & 0.18 + 0.42 + 0.16 % from a measurement of M (xco(1P) —
pt 04 c.c.)/Tiotall X [B(¥(2S) —  ~vx0(1P))] assuming B(4(25) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 Calculated by us. We have added the values from HE 08B for p+7r_7r0 and p— 7t a0
decays assuming uncorrelated statistical and fully correlated systematic uncertainties.

[ (47°) /T eotal P2/
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
3.3+0.4+0.1 3296 1 ABLIKIM 11A BES3 eTe™ — 4(25) — vxco

L ABLIKIM 11A reports (3.34+0.06£0.44) x 10~ 3 from a measurement of M (xco(1P) —
47r0)/rtota|] x [B((2S) — ’YXCO(LD))] assuming B(¢(2S) — ’YXCO(LD)) = (9.62 +
0.31) x 10~2, which we rescale to our best value B(¥(2S) = vxo(1P)) = (9.77 £

0.23) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

F(KtK*(892)°7 +cc.)/M(ata~ Kt K™) l30/Ts
VALUE DOCUMENT ID TECN COMMENT

0.41+0.09 OUR FIT

0.41+0.10 TANENBAUM 78 MRK1 %(2S) = vxcq
I(K3(1430)°K}3(1430)° = ot~ K+ K™) [Tiotal Fo/T
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

0.9%38+02 83 1ABLIKIM 05Q BES2 (2S) = ynta— Kt K~

LABLIKIM 05Q reports (10.44 + 2.371_‘;"88) x 10~% from a measurement of

[M(xco(1P) — K3(1430)073(1430)0 — 7T 1T Kt KT) /Tiorall % [B((2S) —
¥Xc0(1P))] assuming B(¥(2S) — vxo(1P)) = (9.22 £ 0.11 £ 0.46) x 102, which

we rescale to our best value B(¢/(2S) — vxg(1P)) = (9.77 £ 0.23) x 102, Our first
error is their experiment's error and our second error is the systematic error from using
our best value.

I(K3(1430)0K3(1430)° + c.c. & 7t~ K+ K™) [Tiotal o/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
80129102 62  1ABLIKIM 05Q BES2 (2S) — ynta— Kt K~

1 ABLIKIM 05Q reports (8.49+ 1.661’ %33) x10~% from a measurement of [M(xco(1P) —

K3(1430)07§(1430)0+ cc. > T KT K™) /Tiorall X [B(2S) = vx0(1P))]
assuming B(¥(2S) — vxo(1P)) = (9.22 & 0.11 + 0.46) x 10~2, which we rescale

to our best value B(¥(25) — vyxo(1P)) = (9.77 £ 0.23) x 10~2. Our first error is
their experiment’s error and our second error is the systematic error from using our best
value.
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M(K1(1270)t K~ +c.c. =& 777~ KT K™) /Tiotal /T
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
6.3+1.940.1 68 L ABLIKIM 05Q BES2 4(2S) - ynta KT K™

1 ABLIKIM 05Q reports (6.66 = 1.311’%'2(1)) %1073 from a measurement of [M(xco(1P) —
K1(1270)T K™ + c.c. & a7~ KT K™) /Tiorall X [B(¥(2S) = vx0(1P))] assum-
ing B(¥(2S) — vxo(1P)) = (9.22 £ 0.11 £ 0.46) x 102, which we rescale to our

best value B(¥(2S) — ~vxo(1P)) = (9.77 &£ 0.23) x 1072, Our first error is their
experiment's error and our second error is the systematic error from using our best value.
The measurement assumes B(K7(1270) — K p(770)) = 42 £ 6%.

I(K1(1400)t K~ +c.c. =& 7t 7~ K* K™) /Tiotal Mo/l
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<2.7 90 L ABLIKIM 05Q BES2 (2S) = yrtx KT K~

LABLIKIM 05Q reports < 2.85 x 1073 from a measurement of M(xco(1P) —
K1(1400)T K=+ cc. » 7777 KT K™) /Tigrall X [B(1(2S) = vxco(1P))] as-
suming B(v(2S) — vyxo(1P)) = (9.22 £ 0.11 &+ 0.46) X 10~2, which we rescale to
our best value B(¥(25) — ~vxo(1P)) = 9.77 x 1072, The measurement assumes
B(K7(1400) — K*(892)m) = 94 + 6%.

r(ﬂ)(980) fb(980))/ I-total I-13/ r
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
1631102+04 28 lABLIKIM 05Q BES2 (2S) —» ynta— Kt K-

LABLIKIM 05Q reports [I(xco(1P) —  £5(980)f5(980)) /Tiorall X [B(¥:(25) —

¥xc0(1P))] = (1.590.50 T 9-83) x 10~5 which we divide by our best value B((25) —+

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value. One of the f3(980) mesons

is identified via decay to 7t 7~ while the other via KT K~ decay.

r ((980) f5(2200)) /Fyotal F1a/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
79%20:102 77 1 ABLIKIM 05Q BES2 (25) = ~yxtn— Kt K-

1 ABLIKIM 05Q reports (8.42+ 1.421‘%'28) x10~% from a measurement of [M(xco(1P) —

f5(980) £5(2200)) /Tiotall % [B(¥(2S) —  vx.0(1P))] assuming B(y(2S5) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value. The fj mesons are iden-

tified via f;(980) — 7T 7~ and f9(2200) — KT K~ decays.

I (f5(1370) f5(1370)) /Teotal s/l
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<2.7 90 L ABLIKIM 05Q BES2 ¢(2S) —» ynta~ KT K™

LABLIKIM 05Q reports < 2.9 x 10~% from a measurement of [M(xco(1P) —
f(1370) £5(1370)) /Tiorall % [B(¥(25) —  vxco(1P))] assuming B(¢(2S) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —
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YXc0(1P)) =9.77x 10~2. One of the f5(1370) mesons is identified via decay to ata~

while the other via KT K~ decay. Both branching fractions for these f; decays are im-
plicitly included in the quoted result.

I (f5(1370) 5(1500)) /Ttotal 6/T
VALUE (units 10_4) CL% DOCUMENT ID TECN COMMENT
<17 90 L ABLIKIM 05Q BES2 (2S) - yrtx KT K~

LABLIKIM 05Q reports < 1.8 x 10~% from a measurement of [M(xco(1P) —
fo(1370) 5(1500)) /Toral] % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
Yxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —
YXco(1P)) = 9.77 x 1072, The fo mesons are identified via f3(1370) — 7t 7~ and

f0(1500) - Kt K~ decays. Both branching fractions for these f decays are implicitly
included in the quoted result.

I (f6(1370) /(1710)) /Ttotal F17/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
6713302 61  LABLIKIM 05Q BES2 (25) = ~yxTra— KT K™~

1 ABLIKIM 05Q reports (7.12+ 1.851’?'%2) x10~% from a measurement of [M(xco(1P) —

fo(1370) 7y (1710)) /Tioral] % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —
YXc0(1P)) = (9.77 £ 0.23) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value. The f; mesons are identi-

fied via f(1370) — 7T 7~ and fo(1710) — KT K~ decays. Both branching fractions
for these f decays are implicitly included in the quoted result.

I (f5(1500) 5(1370)) /Ttotal s/l
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<13 90 L ABLIKIM 05Q BES2 ¢(2S) —» ynta KT K~

LABLIKIM 05Q reports < 1.4 x 10~% from a measurement of IM(xco(1P) —
fo(1500) f(1370)) /Toral] % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —
YXco(1P)) = 9.77 x 1072, The fo mesons are identified via f3(1500) — 7t 7~ and

f0(1370) - Kt K~ decays. Both branching fractions for these f decays are implicitly
included in the quoted result.

I (f5(1500) f5(1500)) /T otal Mo/l
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<0.5 90 L ABLIKIM 05Q BES2 4(2S) —» ynta KT K~

L ABLIKIM 05Q reports < 0.55 x 10~% from a measurement of [M(xco(1P) —
fo(1500) f5(1500)) /Tora] % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —
YXc0(1P)) = 9.77 x 1072, One of the fo(1500) is identified via decay to 7T 7™ while

the other via KT K™ decay. Both branching fractions for these fo decays are implicitly
included in the quoted result.
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I (f5(1500) 5(1710)) /Ttotal 20/T
VALUE (units 10*4) CL% DOCUMENT ID TECN COMMENT
<0.7 90 L ABLIKIM 05Q BES2 4(2S) - ynta KT K~

LABLIKIM 05Q reports < 0.73 x 10~% from a measurement of [M(xco(1P) —
fo(1500) fy(1710)) /Toral] % [B(¥(2S) —  vxo(1P))] assuming B(¢(2S) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —
YXco(1P)) = 9.77 x 1072, The fo mesons are identified via f;(1500) — 7T 7~ and

f0(1710) - Kt K~ decays. Both branching fractions for these f; decays are implicitly
included in the quoted result.

MKt K=at 7~ 7°) /Tiotal F21/T

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

8.61+0.13+0.94 9.0k 1 ABLIKIM 138 BES3 eTe™ — 4(25) = vxgo
1 Using 1.06 x 108 (25) mesons and B(4(25) — Xc07) = (9.68 £ 0.31)%.

M(KYKErFrtn™) Migral 22/T

VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

422+0.10+0.43 2.7k 1 ABLIKIM 138 BES3 eTe™ — 9(25) = vxco
1 Using 1.06 x 108 4(2S) mesons and B((2S) — Xc07) = (9.68 £ 0.31)%.

MK+ K= 7%7%) /Tyotal 23/l

VALUE (%) EVTS DOCUMENT ID TECN COMMENT

0.56--0.09+0.01 213.5 1 HE 088 CLEO ete™ — ~hth= hORO

L HE 08B reports 0.59 =+ 0.05 + 0.08 & 0.03 % from a measurement of [M(xco(1P) —
KT K~ wowo)/rtota” X [B(1(25) = vxo(1P))] assuming B(¥(2S) — vx0(1P))
= (9.22 + 0.11 £ 0.46) X 1072, which we rescale to our best value B(y(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 10=2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

MK+~ K°7%+ c.c.) /Teotal lo4/T
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.49+0.33+0.06  401.7 1 HE 088 CLEO ete™ — yhth=hOKO

1HE o8B reports 2.64 + 0.15 + 0.31 + 0.14 % from a measurement of [F(XCO(IP) —
Ktr= KO0+ c.c.)/Tiotall X [B(¥(25) —  vxco(1P))] assuming B(¢(2S5) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —

¥YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

M(pt K~ K%+ c.c.) /Tiotal s/
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
1.21+0.21+0.03 179.7 1 HE 088 CLEO ete™ — ~hth= hORO

L HE 08B reports 1.28 & 0.16 + 0.15 & 0.07 % from a measurement of [M(xco(1P) —
pt K= KO+ c.c.)/Tiotall X [B(¥(25) —  ~vxco(1P))] assuming B(y(2S) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.
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r(Kk*(892)~ Kt 7% —» K+ 7~ K79+ c.c.) /Tiotal a6/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.46+0.1240.01 64.1 1 HE 088 CLEO ete™ — ~hth= hORO

L HE 08B reports 0.49 =+ 0.10 + 0.07 & 0.03 % from a measurement of M (xco(1P) —
k*(892) " KT70 - KTa~KO204 cc)/Tiorall X [B((2S) = ~vxco(1P))] as-
suming B(v(2S) — vxo(1P)) = (9.22 £ 0.11 & 0.46) X 102, which we rescale to

our best value B(1/(2S) — vxo(1P)) = (9.77 £ 0.23) x 10~2. Our first error is their
experiment’s error and our second error is the systematic error from using our best value.

M(KYKE 7+ 77) Tiotal F27/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
5.7+1.1+0.1 152 + 14 1 ABLIKIM 050 BES2  9(25) — vXc0

LABLIKIM 050 reports [[(xco(1P) — KLKLaTa=)/Tigrall x [Bw(2S) —
¥Xxc0(1P))] = (0.558 £ 0.051 £ 0.089) x 10~3 which we divide by our best value

B(¥(2S) = vxo(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

M(K* K= 0% /Teoral g/
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.30+0.07+0.01 56.4 1 He 088 CLEO ete™ — ~hth= HORO

1 HE o8B reports 0.32 4 0.05 + 0.05 + 0.02 % from a measurement of [F(XCO(IP) —
Kt K= nwo)/rtota” X [B(¥(25) = vx0(1P))] assuming B(1)(2S) — vxo(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(¥(2S) = vx0(1P))

= (9.77 £ 0.23) x 10~2. Qur first error is their experiment'’s error and our second error
is the systematic error from using our best value.

F(3(7*77))/Teotal F29/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

19.5+2.2 OUR AVERAGE Error includes scale factor of 3.3. See the ideogram below.
20.84£0.5+0.5 145K 1 ABLIKIM 22Q BES3 (2S) — ~3(ntn)
11.741.0£1.9 2Bal 998 BES  ¢(25) = vxco
12.542.940.5 2 TANENBAUM 78 MRK1 $(25) = vxco

LABLIKIM 22qQ reports (2.080 + 0.006 + 0.068) x 1072 from a measurement of
[F(XCO(IP) — 3(7r+7r_))/rtota|] x [B(y(2S) — fyxco(lP))] assuming B(¥(2S) —
YXxc0(1P)) = (9.79 £ 0.2) x 1072, which we rescale to our best value B(y(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2Rescaled by us using B(1(25) — YXc0)= (94 £ 0.4)% and B(¥(2S) —
J/p(AS)nT 7)) = (32.6 £ 0.5)%.
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WEIGHTED AVERAGE
19.5+2.2 (Error scaled by 3.3)

¢

2

X

—+|- - ABLIKIM 22Q BES3 3.3

— ) BAI 99B BES 13.3
444444444 TANENBAUM 78 MRK1_ 57

223

(Confidence Level < 0.0001)
| | | | J

5 10 15 20 25 30
M(3(xF 7)) /Tiotal (units 1073)

r(K*(892)°K*(892)°) /Ttotal l31/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
1724380 +0.04 64 LABLIKIM  05Q BES2 (2S) = ynta~ Kt Kk~

e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
1.574+0.4040.04 30+ 6 23 ABLIKIM 04H BES  Repl. by ABLIKIM 05Q
L ABLIKIM 05Q reports [[(xog(1P) — K*(892)0K*(892)0) /Tyorall X [B((2S) —
¥xco(1P)] = (0.168 £ 0.0350-927) % 1073 which we divide by our best value

B(¥(2S) = vxo(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

2 Assumes B(K*(892)0 — K- xt)=2/3.
3 ABLIKIM 04H reports [[(xco(1P) — K*(892)0K*(892)0) /I oral]l X [B(¥(25) —
YXc0(1P))] = (1.53£0.294+0.26) x 10— which we divide by our best value B(y(2S) —

YXxc0(1P)) = (9.77 £ 0.23) x 1072, Our first error is their experiment’s error and our
second error is the systematic error from using our best value.

0

r("" nc)/rtotal I-35/r
VALUE CL% DOCUMENT ID TECN COMMENT
<1.6 x 10~3 90 1 ABLIKIM 15N BES3 ¢(2s)ete™ — 4n0n,

Lusing B(n, - K KErF)xB(KE — 777 )xB(x0 — v7) = (1.66£0.11)x 102,

/
I-("777 )/ Mtotal 37/l
VALUE (units 1075) CL% EVTS DOCUMENT ID TECN COMMENT
9.1+1.1+0.2 85 1 ABLIKIM 17A1 BES3  9(25) = ~vn'n
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o o o We do not use the following data for averages, fits, limits, etc. @ o o

<24 90 35413 2 ASNER 09 CLEO (25) —» ~vn'n
<50 90 3 ADAMS 07 CLEO 9(25) = vxco

1 ABLIKIM 17l reports (8.92+£0.8440.65) x 102 from a measurement of [M(xco(1P) —
nn/)/rtota” X [B(¥(2S) = vxo(1P))] assuming B(¥)(2S) — vxo(1P)) = (9.99 £
0.27) x 102, which we rescale to our best value B(¥(25) — vxo(1P)) = (9.77 £

0.23) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ASNER 09 reports < 0.25 x 1073 from a measurement of [I"(x<0(1P) = 77")/Totall
% [B(1(25) = ~xo(LP))] assuming B((25) — ~xo(LP)) = (9.22+0.11 4 0.46) x

102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.77 x 102,

3Superseded by ASNER 09. ADAMS 07 reports < 0.5 x 10~3 from a measurement
of [F(XCO(IP) — nn’)/rtota” x [B(¥(2S) — ’YXCO(LD))] assuming B(¢(2S) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —
Yxco(1P)) = 9.77 x 1072,

F(7' ') /Tiotal l3g/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
2.17+0.12 OUR AVERAGE

2.24+0.13+0.05 2.5k 1 ABLIKIM 17A1 BES3  9(2S) — ~n'#/
2.00+0.21+0.05 0.4k 2 ASNER 09 CLEO ¢(25) = ~7'7

e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
1.60+0.41+0.04 23 3 ADAMS 07 CLEO %(25) = vxco

1 ABLIKIM 17l reports (2.19:}:0.03:}:0.14)x10_3 from a measurement of [I"(x .q(1P) —
n'n') /Teotall X [B(¥(2S) = vx0(1P))] assuming B(¥(25) — vxo(1P)) = (9.99 +
0.27) x 102, which we rescale to our best value B(¥(2S) = vx0(1P)) = (9.77 £

0.23) x 10~2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.
2 ASNER 09 reports (2.124+0.13 £0.21) x 103 from a measurement of [M(xco(1P) —

n'n') Teotall X [B(¥(2S) = vx0(1P))] assuming B(¥(2S) — vxo(1P)) = (9.22+
0.11 £ 0.46) x 10~2, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

3 Superseded by ASNER 09. ADAMS 07 reports (1.7 £ 04 £ 0.2) x 10~3 from a
measurement of [[(x.q(1P) — ') /Teotall % [B((2S) — YXc0(1P))] assum-
ing B(¥(2S) —  vxo(1P)) = 0.0922 £ 0.0011 £ 0.0046, which we rescale to our

best value B(¢/(2S) — ~vxo(1P)) = (9.77 £ 0.23) x 10=2. Our first error is their
experiment's error and our second error is the systematic error from using our best value.

I'(ww) /Ttotal l39/T
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

0.97+0.11 OUR AVERAGE

0.94+0.11+0.02 991 1 ABLIKIM 11K BES3  4(2S) — + hadrons

22 +0.7 £0.1 38.1+9.6 2 ABLIKIM 05N BES2  4(25) — vx.0 — 767

L ABLIKIM 11K reports (0.95+0.03+0.11) x 10~ 3 from a measurement of [M(xco(1P) —

ww) /Tiotall X [B(¥(2S) = vx0(1P))] assuming B(1(25) — vxo(1P)) = (9.62 +
0.31) x 10~2, which we rescale to our best value B(¢(25) — YXxc0(1P)) = (9.77 =
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0.23) x 1072, Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ABLIKIM 05N reports [F(XCO(IP) — ww)/rtota” x [B((2S) — ’YXCO(LD))] =
(0.212 £ 0.053 £ 0.037) x 10~3 which we divide by our best value B(y(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 10=2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

r(w ¢) /rtotal I-40/r
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.4240.13+0.03 486 L ABLIKIM 19 BES3 (2S) — ~ hadrons

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o
1.18+0.224+0.03 76 23 ABLIKIM 11K BES3 ¢(2S) — ~ hadrons

L ABLIKIM 19J reports [F(XCO(IP) — wo)/Tiotall X [B((2S) = vxo(1P))] =
(13.83 £0.70 £1.01) x 100 which we divide by our best value B(¥(2S) = vx0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment'’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 11K reports (1.2 £ 0.1+ 0.2) x 10~4 from a measurement of M (xco(1P) —
w®) /Tiotall X [B(¥(25) = vxo(1P))] assuming B(4(25) — vxg(1P)) = (9.62 +
0.31) x 1072, which we rescale to our best value B(¥(2S) = vx0(1P)) = (9.77 £
0.23) x 10~2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

3 Superseded by ABLIKIM 19J.

I'(wK"‘K‘)/Ftom Fq1/T

VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

1.94+0.06+0.20 1.4k 1 ABLIKIM 138 BES3 eTe™ — 9(25) = vxco
1 Using 1.06 x 108 +(2S) mesons and B(1(2S) — x07) = (9.68 £ 0.31)%.

r(7"+ m "7)/ Mtotal I-44/ r

VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT

<0.20 90 L ATHAR 07 CLEO (2S5) — yhTh™ HO

e o o We do not use the following data for averages, fits, limits, etc. o o o

<1.0 90 2 ABLIKIM 06R BES2 %(25) = vxco

L ATHAR 07 reports < 0.21 x 1073 from a measurement of [ (x.o(1P) — =+ 7~ 1)/
Miotall X [B(¥(2S) — vx0(1P))] assuming B(4(2S) — ~vx0(1P)) = (9.22 £
0.11 £ 0.46) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) =
9.77 x 1072,

2 ABLIKIM 06R reports < 1.1 x 10~3 from a measurement of [M(xco(1P) — 7r+7r_77)/
Miotall X [B(¥(2S) = vx(1P))] assuming B(¥)(2S) — ~vxo(1P)) = (9.2 £0.4) x
102, which we rescale to our best value B((2S) — vxo(1P)) = 9.77 x 1072,

-
r(7r+7r n )/rtotal las/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<0.4 90 1 ATHAR 07 CLEO (2S5) — yhTh=#O

1 ATHAR 07 reports < 0.38 x 10~3 from a measurement of IM(xeo(1P) — 7r+7r_77’)/
Miotall X [B(¥(2S) — ~vx0(1P))] assuming B(4(2S) — ~vx0(1P)) = (9.22 £
0.11 £ 0.46) x 102, which we rescale to our best value B(¥(2S) — vxco(1P)) =
9.77 x 102
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MK°K+ 7~ +c.c.)/Tiotal lag/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT

<0.09 90 L ATHAR 07 CLEO (2S) — yhTh= HO
e o e We do not use the following data for averages, fits, limits, etc. e o o

<0.7 90 23 ABLIKIM 06R BES2 %(25) = 7vxc0

<0.7 90 3,4 BAl 998 BES  (25) — 7YX

1 ATHAR 07 reports < 0.10 x 103 from a measurement of M (xco(1P) — KOK+ 7=+
c.c.)/Tiotall X [B(¥(2S) = vXco(1P))] assuming B(1(2S) = vxo(1P)) = (9.22 £
0.11 £ 0.46) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) =

9.77 x 102
2ABLIKIM 06R reports < 0.70 x 10~3 from a measurement of IMxco(1P) —

KOkt + c.c.)/Tiotall X [B(¥(2S) —  ~vxo(1P))] assuming B(¢(2S5) —
YXc0(1P)) = (9.2 & 0.4) x 1072, which we rescale to our best value B(y(2S) —
Yxco(1P)) = 9.77 x 1072
3We have multiplied the K% Kt 7~ measurement by a factor of 2 to convert to
KOkt 7.
4Rescaled by us using B(1)(25) — YXc0)= (94 £ 0.4)% and B(¢(2S) —
J/p(AS)nT 7)) = (32.6 £ 0.5)%.

(Kt K= 7°) /Tiotal Faz/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<0.06 90 1 ATHAR 07 CLEO (25) — yhTh™ hO

L ATHAR 07 reports < 0.06 x 10~3 from a measurement of M (xco(1P) — Kt K~ 71'0)/
Miotall X [B(¥(2S) = vxo(1P))] assuming B(1)(2S) — vxo(1P)) =(9.22+0.11+

0.46) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) =9.77x 102

F(K* K™ n)/Teotal Fag/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<0.23 90 L ATHAR 07 CLEO (2S5) — yhTh= HO

1 ATHAR 07 reports < 0.24 x 103 from a measurement of [M(xco(1P) — KT K™ n)/
rtota|] x [B(y(2S) — ’YXCO(LD))] assuming B(¥(2S) — ’YXCO(LD)) = (9.22 +
0.11 £ 0.46) x 102, which we rescale to our best value B(¥(2S) — vx0(1P)) =
9.77 x 102

F(K* K~ K3KS)/iota Fao/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
1.41+0.47+0.03 16.8 +4.8 1 ABLIKIM 050 BES2  (25) — vXc0

LABLIKIM 050 reports [[(xc(1P) — KT K™ KLKY)/Tigrall x [B(w(2S) —
¥Xc0(1P))] = (0.138 £ 0.039 £ 0.025) x 10~3 which we divide by our best value

B((2S) = vxo(1P)) = (9.77 £ 0.23) x 10~2. Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

0 40 }0 K0
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
5.840.5+0.1 319 1ABLIKIM 19AA BES3  4(25) — v4KY
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Lusing B(KS — 7T 77) = (69.20 + 0.05)%. ABLIKIM 19A reports [I'(xo(1P) —
KL KL KL KQ) /Tiorall X [B((2S) = ¥xc0(1P))] = (5.64 % 0.33 & 0.37) x 1075
which we divide by our best value B(¢(2S) — ~vxg(1P)) = (9.77 £ 0.23) x 102,
Our first error is their experiment’s error and our second error is the systematic error
from using our best value..

r(K+ K~ ¢)/rtotal I-52/r
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
0.97+0.25+0.02 38 1 ABLIKIM 06T BES2 (25) — ~v2Kt 2K~

1 ABLIKIM 06T reports (1.03:|:0.22:|:O.15)><10_3 from a measurement of [ (x-q(1P) —
KT K™ ¢)/Tiotall X [B((2S) = 7xco(LP))] assuming B(¥/(25) = vxco(1P)) =
(9.2 £ 0.4) x 1072, which we rescale to our best value B(¥(2S) = vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

FM(K°K+n~ ¢+ c.c.)/Teotal M3/l

VALUE (units 103) DOCUMENT ID TECN  COMMENT

3.68+0.30+0.50 ABLIKIM 15M BES3  %(2S) — vxc0

I'(K"‘ K_‘ﬂ'o¢)/rtotal sa/T

VALUE (units 10~3) DOCUMENT ID TECN  COMMENT

1.90+0.1440.32 ABLIKIM 15M BES3  (2S) — 7YX

r(¢7"+ m 7"0)/ Mtotal ss/T

VALUE (units 1073)  EVTS DOCUMENT ID TECN  COMMENT

1.18+0.07+0.13 538 1 ABLIKIM 138 BES3 eTe™ — 4(25) = vxgo
1 Using 1.06 x 108 (25) mesons and B(4(25) — Xc07) = (9.68 £ 0.31)%.

I (¢9)/Ttotal Ms6/T

VALUE (units 103) EVTS DOCUMENT ID TECN  COMMENT

0.848+0.031 OUR FIT

0.859+0.027+0.020 2701 L ABLIKIM 23N BES3  ¢(2S) — ~ hadrons

1 Measured using B(¥(2S) = vx0(1P)) = (9.75£0.24) x 102 and B(¢— KTK™)
= (49.2 £ 0.5) x 102 from PDG 22.

I'(¢¢77)/ Mtotal I-57/ r
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
8.4+1.04+0.2 186.6 1 ABLIKIM 208 BES3 (2S) — ~véoén

1 ABLIKIM 208 reports (8.41+0.74+0.62) x 104 from a measurement of M (xco(1P) —
¢6n) /Tiotal] X [B(1(25) = vxco(1P))] assuming B(1(25) — vxo(1P)) = (9.79+
0.20) x 10~2, which we rescale to our best value B(¢(25) — YXxc0(1P)) = (9.77 =

0.23) x 10~2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.
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r(P?"fo)/ Mtotal so/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.704+0.07 OUR AVERAGE Error includes scale factor of 1.3.

0.73+0.06+0.02 Lonvisi 10 CLE3 (25) — ~vppX
0.56-0.1240.01 2 ATHAR 07 CLEO (2S) — ~hth— O

LONYISI 10 reports (7.76 + 0.37 + 0.51 + 0.39) x 10~% from a measurement of
[F(XCO(IP) — p;_)wo)/rtota” x [B(y(2S) — ’YXCO(LD))] assuming B(¥(2S) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —

YXxc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.
2 ATHAR 07 reports (0.59 £ 0.10 £+ 0.08) x 10~ 3 from a measurement of [M(xco(1P) —

pP0) /Tiotall ¥ [B((2S) = vxc0(1P))] assuming B(1(2S) — vxc0(1P)) =
(9.22+£0.11 + 0.46) x 102, which we rescale to our best value B(¥(2S) = vx0(1P))

= (9.77 £ 0.23) x 10~2. Our first error is their experiment'’s error and our second error
is the systematic error from using our best value.

I (pPn)/Ttotal Feo/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.35+0.04 OUR AVERAGE

0.3540.04+0.01 L onvis 10 CLE3 ¢(25) — vppX
0.3740.1140.01 2 ATHAR 07 CLEO (2S) — ~hth= O

LONYISI 10 reports (3.73 + 0.38 + 0.28 + 0.19) x 10~% from a measurement of
[F(xco(IP) = PPN)/Tiotall * [B(¥(2S) = vxco(1P))] assuming B(¥(25) —
YXxc0(1P)) = (9.22:|:O.11:|:O.46)><10_2, which we rescale to our best value B(4(25) —

YXxc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.
2 ATHAR 07 reports (0.39 £ 0.11 4+ 0.04) x 10~ 3 from a measurement of [M(xco(1P) —

PP1)/Tiotall X [B(¥(2S) = vxco(1P))] assuming B(¥(25) — vx0(1P)) = (9-22+
0.11 £ 0.46) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

I (pPw)/Mtotal Fe1/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT
0.53+0.06+0.01 1 oNvyisl 10 CLE3 (25) — ~vppX

LONYISI 10 reports (5.57 £ 0.48 + 0.42 + 0.14) x 10~4 from a measurement of
[F(XCO(IP) — p;_)w)/rtota” x [B(¥(2S) — ’YXCO(LD))] assuming B(9(2S) —
YXc0(1P)) = (9.22:|:0.11:|:0.46)><10_2, which we rescale to our best value B(1(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

F(pP9®)/Mtotal 2/
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
6.0+1.440.1 2+8  LABLIKIM 11F BES3 (25) — ~ppKT K~

1 ABLIKIM 11F reports (6.12+1.18+0.86) x 102 from a measurement of [M(xco(1P) —
PP®)/Tiotal] X [B(1(25) = vxco(1P))] assuming B(1(25) — vxo(1P)) = (9.62+
0.31) x 1072, which we rescale to our best value B(¥(25) — vxo(1P)) = (9.77 £

0.23) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.
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F(pprt7™) /Tiotal Fe3/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT
2.1 +£0.7 OUR EVALUATION Error includes scale factor of 1.4. Treating systematic

error as correlated.

2.1 £1.0 OUR AVERAGE Error includes scale factor of 2.0.

1.5740.2140.53 1 gal 998 BES  9(25) — 7Xc0
4.20+1.1540.18 1 TANENBAUM 78 MRK1 %(2S) = vxco

1 Rescaled by us using B(¥(2S) — vxc0)= (94 £ 04)% and B(y(25) —
J/p(1S) 7T 7)) = (32.6 + 0.5)%.

r(pp= 0 ""0)/ Mtotal Fea/T
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.104+0.028+0.002 39.5 1 HE 088 CLEO ete™ — yhth=hOKO

1HE o8B reports 0.11 4 0.02 + 0.02 + 0.01 % from a measurement of [F(XCO(IP) —
pBr070) /Mol X [B(¥(2S) = vxco(1P))] assuming B(1(2S) — vxo(1P)) =
9. 0.11£0.46) x 10~ “, which we rescale to our best value 25) = vx~o(1
224+ 0.11 4 0.46) x 1072, which | best value B(1(2S (1P

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M(ppK* K~ (non-resonant)) /Miotal les/T
VALUE (units 10~%) EVTS DOCUMENT ID TECN  COMMENT
122+0.26+0.03 48+8  LABLIKIM 11F BES3 (2S) — ypPKT K™~

1 ABLIKIM 11F reports (1.24+0.20+£0.18) x 10 % from a measurement of [M(xco(1P) —
pPKT K~ (non-resonant)) /o141 X [B(¥(2S) = ~vx0(1P))] assuming B((2S) —
YXc0(1P)) = (9.62 £ 0.31) x 102, which we rescale to our best value B(¥(2S) —

YXxc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

M(pPK2 KL)/Tiotal le6/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT
<8.8 90 L ABLIKIM 06D BES2 ¢(25) — xc07

1 Using B(#(2S) = x07) = (9.2 £ 0.5)%
I-(Pﬁ""-)/rtotal Fe7/T
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
12.7+1.1 OUR AVERAGE
12.94+1.1+0.3 5150 1 ABLIKIM 12) BES3 (2S) — ~phAn—
11.3£3.14+0.3 2 ABLIKIM 061 BES2 (2S5) » ypr— X

L ABLIKIM 12J reports [F(XCO(IP) — pﬁw_)/rtota” x [B((2S) — ’YXCO(LD))] =
(1.26 + 0.02 + 0.11) x 10—4 which we divide by our best value B(1/(25) — ¥YXc0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 061 reports [M(xco(1P) = pAm ™) /Tiotall X [B(¥(2S) = vxo(1P))] =
(1.10 £ 0.24 £ 0.18) x 10~% which we divide by our best value B(¥(2S) — vxo(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
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F(pnnt)/Motal s/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
13.7+1.2+0.3 5808 1 ABLIKIM 12) BES3 (25) — ypnxT

L ABLIKIM 12J reports [T (xco(1P) = Bt /Tiorall X [B(¥(2S) = vxc0(1P))] =
(1.34 £0.03£0.11) x 10~# which we divide by our best value B(¥(2S) — vxo(1P))

= (9.77 £ 0.23) x 10~2. Qur first error is their experiment'’s error and our second error
is the systematic error from using our best value.

M(pan~7°) /Tiotal Moo/
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
23.44+2.0+0.5 2480 1 ABLIKIM 12) BES3 (25) — ~ypan— 70

L ABLIKIM 12J reports [M(xco(1P) = paAm~— WO)/rtotaI] X [B(1(25) = vx0(1P))] =
(2.29 £ 0.08 £ 0.18) x 10~# which we divide by our best value B(¥(2S) — vxo(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

r(ﬁ""r-'- Wo)/rtotal I-70/r
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
22.1+1.8+0.5 2757 L ABLIKIM 12) BES3 #(2S) —» ~ypnrt 0

L ABLIKIM 125 reports [I"(xq(1P) — pnxt WO)/rtotaI] X [B(1(25) = vx0(1P))] =
(2.16 + 0.07 + 0.16) x 10—4 which we divide by our best value B(1/(2S) — ¥YXc0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

r(/\71r+ W-)/rtotal F72/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT

118+12+43 426 1 ABLIKIM 121 BES3 ¢(25) — yAAxtx—
e o ¢ We do not use the following data for averages, fits, limits, etc. o o o
<400 90 2 ABLIKIM 06D BES2 (2S) — x.07

L ABLIKIM 12 reports (119.0+6.4+11.4) x 105 from a measurement of [M(xco(1P) —
AArt 77 ) /Tiotall X [B(¥(2S) = vx0(1P))] assuming B(1(25) — vxo(1P)) =
(9.68 + 0.31) x 10=2, which we rescale to our best value B(¥(2S) = vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment'’s error and our second error is
the systematic error from using our best value.
2 Using B(4(25) = xc07) = (92 + 0.5)%

I(AAx* 7~ (non-resonant)) /Motal M7/l
VALUE (units 10_5) CL% DOCUMENT ID TECN COMMENT
<50 90 1 ABLIKIM 121 BES3 (2S) — yAAxtx~

LABLIKIM 121 reports < 54 x 10~° from a measurement of Mxco(1P) —
AArt 7~ (non-resonant)) /Tioia1] X [B(¥(25) = vx0(1P))] assuming B(4(25) —
YXc0(1P)) = (9.68 £+ 0.31) x 102, which we rescale to our best value B((2S) —
Yxco(1P)) = 9.77 x 1072,

r(£(1385)+Z1I'_ + C.C.)/rtota| F74/T
VALUE (units 10_5) CL% DOCUMENT ID TECN  COMMENT
<50 90 1 ABLIKIM 121 BES3 4(25) — ~X(1385)F An—
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LABLIKIM 121 reports < 55 x 10~° from a measurement of IMxeo(1P) —
>(1385) T Ar— + c.c.)/Tiotall X [B(¥(2S) = vxco(1P))] assuming B((25) —
YXc0(1P)) = (9.68 £+ 0.31) x 102, which we rescale to our best value B(¥(2S) —
vxco(1P)) = 9.77 x 10~ 2.

M(X(1385)~ Ant +c.c.) /Tiotal 75/l
VALUE (units 10*5) CL% DOCUMENT ID TECN COMMENT
<50 920 L ABLIKIM 121 BES3 (2S) — ~X(1385)” AxnT

LABLIKIM 121 reports < 50 x 10~° from a measurement of Mxco(1P) —
>(1385) " Axt + c.c.)/Tiotall X [B(¥(2S) = ~vxco(1P))] assuming B(1(25) —
YXc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(¥(2S) —
YXco(1P)) = 9.77 x 1072,

M(K*pA+c.c.)/Tiotal F77/T
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

1.254+0.12 OUR AVERAGE Error includes scale factor of 1.3.

1.3140.09+0.03 ok L2 ABLIKIM 13D BES3 ¢(25) — yApPKT
1.01-£0.19+0.02 3 ATHAR 07 CLEO (25) — yhTh™ hO

1 ABLIKIM 13D reports (1.32:|:0.03:|:0.10)><10_3 from a measurement of [ (x.q(1P) —
KTBA+ c.c.)/Tiotall X [B(¥(25) = vxo(1P))] assuming B(1/(2S) — vxo(1P))
= (9.68 £ 0.31) x 102, which we rescale to our best value B(¥(2S) = vx0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2Using B(A — p7m~) = 63.9%.

3 ATHAR 07 reports (1.07 £0.17 £ 0.12) x 10~ 3 from a measurement of [M(xco(1P) —
KT BA+ c.c.)/Tiotall X [B(¥(25) = vx(1P))] assuming B(1(25) — vxo(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B((2S) — vx0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

r(K*(892)* pA+c.c.) /Tiotal M79/T
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
4.8+0.9+0.1 254 L ABLIKIM 19AU BES3  ¢(2S5) — yK*TBA

L ABLIKIM 19AU reports [M(xco(1P) — K*(892) T BA+ c.c.)/Tiotall X [B(#(25) —
YXxc0(1P))] = (4.7 £0.7 £0.5) x 10~2 which we divide by our best value B(y(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I (K*PA(1520)+ c.c.) /T iotal lgo/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
3.04+0.740.1 62+ 12 1 ABLIKIM 11F BES3 4(2S) — vpBPKT K™

1 ABLIKIM 11F reports (3.00:|:0.58:|:O.50)><10_4 from a measurement of [ (x-q(1P) —
KT BA(1520)+ c.c.)/Tiotall X [B(¥(2S) = ~x0(1P))] assuming B(y(2S) —
YXc0(1P)) = (9.62 £ 0.31) x 102, which we rescale to our best value B((2S) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.
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F(nK2A +c.c.)/Tiotal g/
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
6.7+0.5+0.2 1284 1 ABLIKIM 21Av BES3  4(2S) —» vnKLA + cc.

LABLIKIM 21Av reports (6.65 £ 0.26 + 0.41) x 10~% from a measurement of
[F(XCO(IP) — nK%/\ + c.c.)/rtota|] x [B((2S) — ’YXC()(lP))] assuming
B(¥(2S) — vxo(1P)) = 0.0979 + 0.0020, which we rescale to our best value

B((2S) = vxo(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value. Also uses

B(A— Brt) = (639 £05)% and B( K - 7+ 77) = (69.20 % 0.05)%.

I (A(1520)/A(1520)) /Ttotal g1/l
VALUE (units 1074) EVTS DOCUMENT ID TECN  COMMENT
3.1+1.240.1 28 + 10 1 ABLIKIM 11F BES3 (2S) - vypBKT K~

LABLIKIM 11F reports (3.18 + 1.11 + 0.53) x 10~% from a measurement of
[F(XCO(IP) — /\(1520)/\(1520))/rt0ta|] x [B(¥(2S) — ’YXC()(lP))] assuming
B((2S) — vxo(1P)) = (9.62 &+ 0.31) x 102, which we rescale to our best value

B((2S) = vxo(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

M(Z92%) /Total g2/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

4.69+0.32 OUR AVERAGE

4.83+0.3440.11 1046 1 ABLIKIM 18V BES3 ¢(25) —» yx9%0
42 +0.7 +0.1 78+10  2NAIK 08 CLEO (25) » yx0%0

e o o We do not use the following data for averages, fits, limits, etc. o o o

47 +05 +0.1 243 34 ABLIKIM 134 BES3 ¢(25) —» yx0%0

LABLIKIM 18V reports [I(xco(1P) = £0F0)/Tyiall X [B1(2S) = vxo(1P))] =
(4.72+£0.18 £0.28) x 10— which we divide by our best value B(¥(2S) — vxo(1P))
= (9.77 £ 0.23) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2NAIK 08 reports (4.41 £ 0.56 £+ 0.47) x 10~ from a measurement of [M(xco(1P) —
5050) /Migrall X [B(#(2S) = vxco(1P))] assuming B(1(2S) — vxo(1P)) =
(9.22+£0.11 + 0.46) x 102, which we rescale to our best value B(¥(2S) = vx0(1P))
= (9.77 £ 0.23) x 10~2. Qur first error is their experiment'’s error and our second error

is the systematic error from using our best value.
3 ABLIKIM 13H reports (4.78£0.341+0.39) x 10~ from a measurement of [M(xco(1P) —

5050) /Miorall < [B(¥(2S) = vxco(1P))] assuming B($(2S) — vxo(1P)) =
(9.62 + 0.31) x 10~2, which we rescale to our best value B(¥(2S) = vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
4 Superseded by ABLIKIM 18V

MZ+E")/Neotal les/I
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

4.7 £0.8 OUR AVERAGE Error includes scale factor of 2.6.

5.1140.35-+0.12 747 1 ABLIKIM 18V BES3 ¢(25) » yXtT—
3.1 +£0.7 +0.1 39+7  2NAIKK 08 CLEO #(2S) —» y>Xt=—
e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

45 +0.5 +0.1 148 34 ABLIKIM 134 BES3 ¢(25) » yXtZT—
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L ABLIKIM 18v reports [F(XCO(IP) — Z+f_)/rtota|] x [B((2S) — ’YXCO(LD))] =
(4.99 + 0.24 + 0.24) x 102 which we divide by our best value B(1/(25) — YXc0(1P))
= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2NAIK 08 reports (3.25 + 0.57 + 0.43) x 10~ 4 from a measurement of [M(xco(1P) —
STT7) Tiotall X [B((2S) = vxco(1P))] assuming B((2S) — vxo(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B(¥(2S) = vx0(1P))
= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

3 ABLIKIM 13H reports (4.54+£0.424+0.30) x 10~ from a measurement of [M(xco(1P) —
STT7) Tiotall X [B((2S) = 7xo(1P))] assuming B((2S) — vxo(1P)) =
(9.62 + 0.31) x 10~2, which we rescale to our best value B(¥(2S) = vxo(1P)) =
(9.77 £ 0.23) x 102, Our first error is their experiment'’s error and our second error is
the systematic error from using our best value.

4 Superseded by ABLIKIM 18V

M(Z= %) /Notal g6/
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
5.14+0.5+0.1 2143 1 ABLIKIM 201 BES3 ¢(25) » yX— =t

1 ABLIKIM 201 reports (5.13+0.24 +0.41) x 10~# from a measurement of IM(xeo(1P) —
ETTT) Tiotall X [B(¥(2S) = 7xco(1P))] assuming B((25) — vx0(1P)) =
(9.79 £+ 0.20) x 10~2, which we rescale to our best value B(¥(2S) = vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

I(X(1385)+X(1385)) /Ttotal g7/
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
16.3+5.8+0.4 27 L ABLIKIM 121 BES3 ¢(25) - yAAxtx—

1 ABLIKIM 121 reports (16.4 £ 5.7 & 1.6) X 102 from a measurement of [M(xco(1P) —
5(1385) T X(1385) ) /Tiorall x [B(¥(2S) —  vxco(1P))] assuming B((2S) —
¥Xc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B(¥(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I(X(1385)~ £(1385)) /Teotal lgs/T
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
23+7+1 33 L ABLIKIM 121 BES3 (2S) - yAAxtx—

L ABLIKIM 121 reports (235 +6.2+2.3) x 105 from a measurement of [M(xco(1P) —
2(1385)_f(1385)+)/rtota|] X [B(¥(2S) —  ~vxo(1P))] assuming B(¥(2S) —
YXc0(1P)) = (9.68 £ 0.31) x 102, which we rescale to our best value B((2S) —

YXc0(1P)) = (9.77 £ 0.23) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I'(K‘ A=t 4 C.C.)/rtota| Fgo/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.95:+0.35+0.05 57 L ABLIKIM 151 BES3 ¢(25) - YK~ A=t 4 cc.
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L ABLIKIM 151 reports IM(xco(1P) — K=AZt + c.c.)/Tiotall % [B(¥(25) —
¥Xc0(1P))] = (1.904+0.3040.16) x 10—2 which we divide by our best value B(t(2S) —

YXc0(1P)) = (9.77 £ 0.23) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

(2°°) /M yota Foo/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

45 +£0.5 OUR AVERAGE Error includes scale factor of 1.7.

4.68+0.3140.11 1741 1 ABLIKIM 220 BES3 (2S5) — y=0=0

3.2 +0.8 +0.1 233+49  2NAIK 08 CLEO 1(25) » ~=0=0
L ABLIKIM 220 reports (4.67+£0.19+0.26) x 10~ from a measurement of [M(xco(1P) —
Z0=0) /Tiorall x [B(¥(2S) = xco(1P))] assuming B(1(2S) —  vxo(1P)) =
(9.79 £ 0.2) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

2NAIK 08 reports (3.34 + 0.70 & 0.48) x 10~# from a measurement of [M(xco(1P) —
Z0=0) /Ty el X [B((25) = 7xcg(1P))] assuming B(¥(25) — 7xco(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B((2S) — vx0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M= =) /Niotal Fo1/T
VALUE (units 1074) CL% EVTS DOCUMENT ID TECN COMMENT
4.47+0.20 OUR AVERAGE
4.44+0.1840.10 4932 1 ABLIKIM 220 BES3 (2S) — 'y_:_§+
49 +0.7 £0.1 95 2 NAIK 08 CLEO w(2S) — 75+§_
o o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
<10.3 90 3 ABLIKIM 06D BES2 (2S) — x07

1 ABLIKIM 220 reports (4.43+£0.08+0.18) x 10~% from a measurement of [M(xco(1P) —
E7EF) Myotall X [B(25) — 7xco(1P))] assuming B(4(25) — vxco(1P)) =
(9.79 £ 0.2) x 10~2, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
2NAIK 08 reports (5.14 £ 0.60 £+ 0.47) x 10~ from a measurement of [M(xco(1P) —

=5 Miomall ¥ [BE(2S) = 7vxco(1P))] assuming B(4(25) = 7xco(1P)) =
(9.22+£0.11 4+ 0.46) x 102, which we rescale to our best value B((2S) — vx0(1P))

= (9.77 £ 0.23) x 10~2. Our first error is their experiment'’s error and our second error
is the systematic error from using our best value.
3 Using B((25) = xc07) = (9.2 + 0.5)%

M2~ 2%)/TNiotal Fo2/T
VALUE (units 10*5) EVTS DOCUMENT ID TECN COMMENT
3.51+0.54+0.29 284 ABLIKIM 23T BES3 x.; — 2~ QT

I-("7c at W-)/rtotal Fo3/T
VALUE CL% DOCUMENT ID TECN COMMENT

< 7x10~4 90 L2 ABLIKIM 138 BES3 ete™ = 4(25) = vxc0
e o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

<41 x 1074 90 1,3 ABLIKIM 138 BES3 eTe™ — 4(25) = vx
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1 Using 1.06 x 108 4(2S) mesons and B((2S) — Xc07) = (9.68 £ 0.31)%.
2 From the Ne — K% KEnF decays.
3 From the Ne — KT K= =0 decays.

F(PP)/Teotal X T(77)/Tiotal Msg/I" x M32/T
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
18.94+1.5 OUR FIT Error includes scale factor of 1.5.
15.3+2.4+0.8 L ANDREOTTI 03 E835 Bp— xo9— 70n0

1 \We have multiplied B(pﬁ)'B(ﬂ'O 7r0) measurement by 3 to obtain B(pp)-B(w ).
(PP)/Ttotal X T(7°n)/Teotal Msg/l x 33/T
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
<0.4 ANDREOTTI 05c E835 pp— n0n

= /

I-(PP) /Ttotal X r(Woﬂ )/ Mtotal sg/I x [34/T
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
<25 ANDREOTTI 05c E835 pp— n0n
I (pP)/Ttotal X T(11)/Tiotal Isg/T x M36/T
VALUE (units 1077) DOCUMENT ID TECN COMMENT
6.7+0.7 OUR FIT Error includes scale factor of 1.4.
40+12193 ANDREOTTI 05C E835 Bp— 17
r(Pﬁ) [Ttotal X F(nn’) /Ttotal Msg/T x 37/T
VALUE (units 10_6) DOCUMENT ID TECN COMMENT
e o o We do not use the following data for averages, fits, limits, etc. @ o o
21723 ANDREOTTI 05C E835 Bp — 709

— RADIATIVE DECAYS ———

r(’)’ Po)/ Mtotal los/T
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<9 90 12445 1 BENNETT 08A CLEO (2S) — 'y'ypo

e o ¢ We do not use the following data for averages, fits, limits, etc. o o o

<10 90 6+12  2ABLIKIM 11E BES3 ¢(25) — ~vvp°

1 BENNETT 08A reports < 9.6 x 100 from a measurement of [M(xco(1P) = ~p )/
rtota|] x [B((2S) — ’YXCO(LD))] assuming B(¢(2S) — fyxco(lPSg (9.2 +£0.4) x
10~2, which we rescale to our best value B(¥(2S) = vxco(1P)) = 9.77 x 102,

2 ABLIKIM 11E reports < 10.5 x 10~ from a measurement of [M(xco(1P) — vp0)/
Miotall X [B(¥(2S) = vx0(1P))] assuming B(¥)(2S) — vxg(1P)) = (9.62+£0.31) x

102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.77 x 102,

I'(fyw) /Ttotal Foe/T
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<8 90 0.0+238 1 BENNETT 08A CLEO ¢(2S) - yyw

e o o We do not use the following data for averages, fits, limits, etc. e o o

<13 90 5+ 11 2 ABLIKIM 11E BES3 ¢(2S) —» ~vyw
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1 BENNETT 08A reports < 8.8 x 10~0 from a measurement of [M(xco(1P) = ~yw)/
Miotall X [B(¥(2S) = vx(1P))] assuming B(¥(2S) — vxo(1P)) = (9.2 £ 0.4) x
102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.77 x 1072,

2 ABLIKIM 11E reports < 12.9x 105 from a measurement of M xco(1P) = vw)/Tiotall
X [B(¥(2S) — vxo(1P))] assuming B(¥(2S) — vxo(1P)) = (9.62+0.31) x 1072,
which we rescale to our best value B(1(25) — vxo(1P)) = 9.77 x 102

r(’)’ ¢) /Ttotal Fo7/T
VALUE (units 10_6) CL% EVTS DOCUMENT ID TECN COMMENT

<6 90 0.1+16 1 BENNETT 08A CLEO #(2S) — ~v¢

o o ¢ We do not use the following data for averages, fits, limits, etc. @ o o

<16 90 15 +7 2 ABLIKIM 11E BES3 ¢(2S) —» ~v~v¢

1 BENNETT 08A reports < 6.4 x 1070 from a measurement of M(xco(1P) = ~o)/
Miotall X [B(¥(2S) = vx(1P))] assuming B(¥(2S) — vxo(1P)) = (9.2 £ 0.4) x
102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.77 x 102,

2 ABLIKIM 11E reports < 16.2x 10~ from a measurement of M (xco(1P) = v9)/Tiotall
X [B(¥(2S) — vx0(1P))] assuming B(¥)(2S) — vxo(1P)) = (9.62+0.31) x 102,
which we rescale to our best value B(¥(25) — vxq(1P)) = 9.77 x 1072,

I(et e J/¥(1S)) /Teotal Tog/T

VALUE (units 1074) EVTS DOCUMENT ID TECN  COMMENT

e o e We do not use the following data for averages, fits, limits, etc. o o o
1.54-£0.33+0.04 56 1.2 ABLIKIM 171 BES3 ¢(25) — vet e J/o
1 ABLIKIM 171 reports (1.5140.30+0.13) x 10~# from a measurement of [M(xco(1P) —
et e J/9(15))/Tiotall ¥ [B(¥(2S) = vxco(1P))] assuming B(¥(25) = vxc(1P))
= (9.99 £ 0.27) x 102, which we rescale to our best value B(¥(2S) — vx0(1P))

= (9.77 £ 0.23) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 Not independent from other measurements reported by ABLIKIM 17I

I(ete™J/9(15))/T (v/%(15)) l99/To4
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
9.5+1.9+0.7 56 1 ABLIKIM 171 BES3 ¢(25) — ete yJ/¥

1 Uses B(9(2S) = vxco(1P)) X B( xo(1P) = 7J/4(15)) = (15.840.340.6)x10~4

from ABLIKIM 17N and accounts for common systematic errors.

M(ptp=J/9(1S))/T (et e J/9(1S)) M100/To9

VALUE CL% EVTS DOCUMENT ID TECN COMMENT

<0.14 90 <95 ABLIKIM 107 BES3 4(25) = vxo —
y(pt = J/)

F(yv) /T (vJ/9(1S)) Fog/Toa

VALUE (units 10_2) DOCUMENT ID TECN COMMENT

1.45+0.13 OUR FIT Error includes scale factor of 1.6.

2.0 £0.4 OUR AVERAGE
2.2 +04 701 1 ANDREOTTI 04 E835 pp— X9 — V7

1.45+0.74 2 AMBROGIANI 008 E835 Pp — Xoo — Y7, vJ/%
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1 The values of B(pp)B(v7) and B(vy~)B(vJ/¢) measured by ANDREOTTI 04 are not
independent. The latter is used in the fit because of smaller systematics.

2 Calculated by us using B(J/4(1S) — et e™) = 0.0593 + 0.0010.

r(Pﬁ) /Ttotal X F(7J/¢(15)) /Ttotal sg/I" x o4 /T
VALUE (units 10~7) EVTS DOCUMENT ID TECN  COMMENT

31.1+2.2 OUR FIT Error includes scale factor of 1.4.

28.24+2.1 OUR AVERAGE

28.04+1.941.3 392 L23BAGNASCO 02 E835 PBp— xco— J/U

20372 7+15 89 1,2 AMBROGIANI 998 PP — Xco — J/07

LValues in (r(pp) X I‘(’yJ/z/;(lS))/l_totaﬂ and (r(pp)/rtota| X r(ny/'t/)(IS))/rtota|)
are not independent. The latter is used in the fit since it is less correlated to the total

width.
2 Calculated by us using B(J/4(1S) — eTe™) = 0.0593 £ 0.0010.

3 Recalculated by ANDREOTTI 05A.

Xc0(1P) CROSS-PARTICLE BRANCHING RATIOS

I-(Xco(lp) - Pﬁ)/rtotal X F(1/1(25)—> 'YXCO(]-P))/rtotal
Msg/T x FYES) rv(25)
VALUE (units 10_6) EVTS DOCUMENT ID TECN COMMENT

21.6+1.3 OUR FIT Error includes scale factor of 1.5.
23.7+1.0 OUR AVERAGE

23.740.840.9 1222 ABLIKIM 13v BES3 (2S) — ~pP
237414414 383422  L1NAIK 08 CLEO (2S) — ~pp
236131 +34 895713 BAI 04F BES  (25) = vxo(1P) = PP

1 Calculated by us. NAIK 08 reports B(x.g — pP) = (25.7+ 1.5 £ 1.5 + 1.3) x 1072
using B(1(2S) — vxg) = (9.22 & 0.11 & 0.46)%.

(xco(1P) = pP)/Tiotal X (¥(25) = vxc0(1P))/T (¥(25) -

J/(1S)n+7~) Fsg/T x FYES) rv(29)
VALUE (units 1075) DOCUMENT ID TECN COMMENT

6.21+0.4 OUR FIT Error includes scale factor of 1.5.

4.6+1.9 1 Bal 981 BES  9(25) — vxc0 — VPP

1 Calculated by us. The value for B(x.g — ppP) reported in BAI 98I is derived using

B(¥(2S) = 7¥Xcg) = (9:3+0.8)% and B(1(2S) — J/(1S) 7T 7~ ) = (32.4+2.6)%
[BAI 98D].

M(xco(1P) = AA)[Tigral X T(¥(2S) = Yxc0(1P))/Ttotal
F71/T x FY2S) rv(25)
VALUE (units 1076) EVTS DOCUMENT ID TECN COMMENT

35.24+1.3 OURFIT
35.1+1.4 OUR AVERAGE Error includes scale factor of 1.1.

35.6+1.0+1.0 1486 ABLIKIM 21L BES3 ¥(2S) — ”ypw_[_)w+
31.243.34+2.0 131 I NAIK 08 CLEO (2S) — yAA

e o o We do not use the following data for averages, fits, limits, etc. o o o
32.041.9+2.2 369 23 ABLIKIM 134 BES3 ¢(25) — ~AA
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1 Calculated by us. NAIK 08 reports B(xcg = AA) =(33.8£3.6+22+17)x 1072
using B(¥(2S) = vx0) = (9.22 £ 0.11 & 0.46)%.

2 Superseded by ABLIKIM 21L
3 Calculated by us. ABLIKIM 13H reports B(xco & AA) = (33.3£2.0+26) x 107>

from a measurement of B(x.g — AA) X B(1)(25) — ~xq) assuming B(1)(25) —
YXc0) = (962 + 0.31)%.

I(xco(1P) = AA)/Tioral X F(%(25) = vxc0(1P))/T ((25) -

_ ¥(2S) ;-¥(25
J/p(1S)nt ) F71/T % I-17(9 )/I'12( )
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT

10.1+0.4 OUR FIT

13.0738+25 152742 1pal 03E BES (25) — yAA

1 BAI 03E reports [B(xco — AA) B(w(2S) = vx.0) / B(¥(2S) — JiprtaT)] x
[B2(A — = p) / B(J/w — pB) ] = (2457058 + 0.46)%. We calculate from this

measurement the presented value using B(A — 7~ p) = (63.9 & 0.5)% and B(J/¢) —
pP) = (2.17 £ 0.07) x 103.

I-(Xco(lp) — /mﬂ)/rtotal X F(1/1(25)—> ’YXco(lp))/rtotal

F76/T % FYa>) /ré(29)
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
2.26+0.30+0.20 67 ABLIKIM 2200 BES3  4(25) — ~ypr—BrTyy |

[(xco(1P) = vJ/¥(15)) /Teotal X T(¥(25) = 7Xc0(1P))/Ttotal
Foa/T x FY2S) rv(25)
VALUE (units 1072) EVTS DOCUMENT ID TECN COMMENT

0.1374+0.009 OUR FIT Error includes scale factor of 1.7.
0.147+0.029 OUR AVERAGE Error includes scale factor of 4.6.

0.158+0.003 +0.006 4.8k L ABLIKIM 17N BES3  ¢(2S) — ~~J/v
0.024+0.015+0.205 12k ABLIKIM 17U BES3 ete™ — v X
0.069+0.018 2 OREGLIA 82 CBAL 9(2S) — vxc0

0.4 +£03 3 BRANDELIK 798 DASP P(2S) = YXc0

0.16 £0.11 3 BARTEL 788 CNTR (2S5) — vx0

33 £1.7 4 BIDDICK 77 CNTR ete™ — ~X

o o ¢ We do not use the following data for averages, fits, limits, etc. @ o o
0.151+0.003+0.010 4.3k 5 ABLIKIM 120 BES3  9(2S) = vXc0
0.125+0.007 +0.013 560 6 MENDEZ 08 CLEO (2S) — vx0

0.18 £0.01 +0.02 172 7 ADAM 05A CLEO Repl. by MENDEZ 08

1 Uses B( J/ip - etTe™) = (5.971 + 0.032)% and B( J/¢p — putp~) = (5.961 +
0.033)%.

2 Recalculated by us using B(J/4(1S) — £+ £¢7) = 0.1181 + 0.0020.

3 Recalculated by us using B(J/¢(1S) — pT p™) = 0.0588 + 0.0010.

4 Assumes isotropic gamma distribution.

5 Superseded by ABLIKIM 17N.

6 Not independent from other measurements of MENDEZ 08.

7 Not independent from other values reported by ADAM 05A.
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M(xco(1P) = 7J/$(1S)) /Teoral x T(¥(2S) = vxc0(1P))/T (¥(2S) -

J/H(1S)xt 77) Foa/T x FYZS) (29
VALUE (units 1072) EVTS DOCUMENT ID TECN COMMENT

0.396+0.025 OUR FIT Error includes scale factor of 1.7.

0.358+0.020+0.037 560 MENDEZ 08 CLEO (2S) = vx0

e o e We do not use the following data for averages, fits, limits, etc. o o o

0.55 +0.04 +£0.06 172 1 ADAM 05A CLEO Repl. by MENDEZ 08

I Not independent from other values reported by ADAM 05A.

M(xco(1P) = 77) /Tiotal X T(%(2S) = vxc0(1P))/Ttotal
Fog/T x FY2S) rv(25)
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT

2.00+0.09 OUR FIT
1.9510.09 OUR AVERAGE

1.934+0.08+£0.05 3.5k ABLIKIM 17AE BES3  ¢(2S) — YXco — 37
2.174+0.32+0.10 0.2k ECKLUND 08A CLEO w(2S) — YXco — 37
3.7 £1.8 +£1.0 LEE 85 CBAL ¥(2S) — YXc0

e o o We do not use the following data for averages, fits, limits, etc. o o o
2.17+0.174+0.12 0.8k 1 ABLIKIM 12A BES3  ¢(2S) — YXco — 37

1 Superseded by ABLIKIM 17AE.

I-(Xco(lp)—’ 7”")/rtotal X F(1/1(25)—> ’YXco(lp))/rtotal
Faa/T x FYGS) rv(25)

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
8.34+0.34 OUR FIT Error includes scale factor of 1.2.
8.80+0.34 OUR AVERAGE

9.114£0.084+0.65 17k 1 ABLIKIM 10A BES3 ete™ — (25) = vxco
8.81+0.114+0.43 89k  2ASNER 09 CLEO #(25) » ynta—
8.13+0.194+0.80 28k 3 ASNER 09 CLEO (25) » ~yn0#0

1 Calculated by us. ABLIKIM 10A reports B(x.g — n0n0) = (3.23 4+ 0.03 + 0.23 +

0.14) x 103 using B(1(2S) — YXco) = (9-4 £ 0.4)%. We have multiplied the 7070
measurement by 3 to obtain 7.

2 Calculated by us. ASNER 09 reports B(xco — 7T 7~) = (6.37 + 0.08 + 0.31 +
0.32) x 10~ 3 using B(¥(2S) — vxcg) = (9:22 £ 0.11 4 0.46)%. We have multiplied
the 717 7~ measurement by 3/2 to obtain 7.

3 Calculated by us. ASNER 09 reports B(x g — 7070) = (2.94 & 0.07 + 0.32 + 0.15) x
10~3 using B(¥(2S) — vxc0) = (9.22 £ 0.11 £ 0.46)%. We have multiplied the

7070 measurement by 3 to obtain 7.

M(xco(1P) = 77) /Teotal % T(%(2S) = vxco(1P))/T (¥(2S) —
J/p(1S)mtn~) 32/l x r‘f%s’/ l"fz(zs)
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

24.0+1.0 OUR FIT Error includes scale factor of 1.2.

20.7+1.7 OUR AVERAGE

23.942.7441 97 + 11 1 Bl 03¢ BES  9(25) = vxco — 77070
20.24+1.14+15 720 + 32 2 Al 981 BES  (25) = vxcg — YT
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1We have multiplied 7070 measurement by 3 to obtain 7.

2 Calculated by us. The value for B(x g — 7r+7r_) reported in BAI 98I is derived using
B(¢¥' — vxc0)= (9.3 £0.8)% and B(y/ — J/ntn7) = (32.4 £ 2.6)% [BAI 98D].
We have multiplied 77 7~ measurement by 3/2 to obtain w.

r(XcO(]-P)_) nﬂ)/rtotal X r(¢(25)—) 'YXCO(]-P))/rtotal 2
F36/T x FYGS) rv(25)
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

2.9440.22 OUR FIT Error includes scale factor of 1.2.
3.1240.19 OUR AVERAGE

3.23+0.094+0.23 2132 1 ABLIKIM 10A BES3 ete  — ¥(2S) — YXc0
2.93+0.1240.29 0.9k 2 ASNER 09 CLEO %(2S) —» vnn

e o o We do not use the following data for averages, fits, limits, etc. o o o
2.86+0.46+0.37 48 3 ADAMS 07 CLEO (2S) = vx0

1 Calculated by us. ABLIKIM 10A reports B(xco — nm) = (3.44£0.10 £0.24 £ 0.13) x
1073 using B(4(2S) — vxco) = (94 + 0.4)%.

2 Calculated by us. ASNER 09 reports B(x g — 171) = (3.184+0.134+0.314+0.16) x 10—3
using B(1(2S) — vx0) = (9-22 £ 0.11 & 0.46)%.

3Superseded by ASNER 09. Calculated by us. The value of B(xg(1P) — nn) reported
by ADAMS 07 was derived using B(1(2S) — ~vxo(1P)) = (9.22 & 0.11 + 0.46)%
(ATHAR 04).

[(xco(1P) = n1)/Tiotal % T(¥(25) = vxc0(1P))/T (¥(2S) -

J/(1S)n+7~) F3g/T x FYES) rvf29)
VALUE (units 10_3) DOCUMENT ID TECN COMMENT

0.85 +£0.06 OUR FIT Error includes scale factor of 1.2.

0.578+0.241+0.158 BAI 03c BES  (2S) —» ~nn

r(XcO(]-P)_) K+ K-)/rtotal X r(¢(25)—) 'YXCO(]-P))/rtotal
Fa2/T x FYES) rv(25)

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
5.93+0.28 OUR FIT
5.97+0.070.32 8.1k  LASNER 09 CLEO (25) » vKtK—

1 Calculated by us. ASNER 09 reports B(xco — KT K™) = (6.47 £ 0.08 + 0.35 +
0.32) x 1073 using B(¥(2S) — vxq) = (922 + 0.11 + 0.46)%.

M(xco(1P) = K K~)/Total x T(¥(25) = vxc0(1P))/T (¥(2S) -

J/p(1S)nt7~) Fa2/T x FYGS) ré(29)
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

1.71+0.08 OUR FIT

1.63+0.10+0.15 774 + 38 1 BAl 98I BES  ¢(25) - KT K~

1 Calculated by us. The value for B(x g — Kt K ™) reported by BAI 98I is derived using

B(¥(2S) — vxco) = (9:3 £ 0.8)% and B(y(2S) — J/prt ™) = (32.4 + 2.6)%
[BAI 98D].
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r(XcO(]-P) — Kg Kg)/rtotal X r(¢(25) - 'YXCO(]-P))/rtotal
Fas/T x FYZS) rv(25)
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

3.10+0.16 OUR FIT
3.18+0.17 OUR AVERAGE

3.2240.0740.17 2.1k L1 ASNER 09 CLEO (25) — ny%K%
3.0240.19+0.33 322 ABLIKIM 050 BES2 (25) — vKZL K2

L Calculated by us. ASNER 09 reports B(x.g = K2K%) = (3.49 4 0.08 + 0.18 +
0.17) x 103 using B(1(2S) = vx0) = (9-22 £ 0.11 £ 0.46)%.

M(xco(1P) = KL KQ)/Teotal x T(¥(2S) = vxco(1P)) /T (¥(2S) —

J/p(1S)xt ) Fa3/T x FYGS) réf?9)
VALUE (units 1074) DOCUMENT ID TECN COMMENT

8.9+0.5 OUR FIT

5.6+0.8+1.3 1Al 998 BES  (25) —» vKIKY

1 Calculated by us. The value of B(x g — K% K%) reported by BAI 99B was derived using
B(¥(2S) = vx0(1P)) = (9-3£0.8)% and B(¢(2S) — J/zbn’"’ ) =(32.4+2.6)%

[BAI 98D].
M(xco(1P) = 2(n*t 7)) /Tioral X F(%(25) = vxc0(1P))/T ((25) -
J/H(AS)nt ) ra/T x 132 /r{e)
VALUE (units 10_3) DOCUMENT ID TECN COMMENT

6.6+1.0 OUR FIT Error includes scale factor of 2.0.

6.91+2.4 OUR AVERAGE Error includes scale factor of 3.8.

4.4+0.1+0.9 1 gal 998 BES  9(25) — 7Xc0
9.340.9 2 TANENBAUM 78 MRK1 %(25) = vXco

1 Calculated by us. The value for B(x g — 2rt 277 ) reported in BAI 99B is derived using

B(¥(2S) = vxg) = (9-3+0.8)% and B((2S) — J/p(1S)nt 7)) = (324 +£2.6)%
[BAI 98D].
2 The value B(¥(1S) = vxc0)*B(xco — 27T 27 7) reported in TANENBAUM 78 is

derived using B(¥(2S) — J/¢(1S)nT 77 )xB(J/9(1S) — ¢T07) =(4.6 + 0.7)%.
Calculated by us using B(J/4(1S) — ¢T¢7) = 0.1181 + 0.0020.
I'(xco(lP) - ata” Kt K-)/rtotal X I'(¢(2S) - 'YXCO(]-P))/rtotal
Fg/T x FY2%) /rv(25)

VALUE (units 10_3) DOCUMENT ID TECN COMMENT

1.784+0.15 OUR FIT Error includes scale factor of 1.1.

1.64+0.05+0.2 ABLIKIM 05 BES2 (2S) — 7Xco

M(xco(1P) = 7t 7~ KT K™) [Teoral X T((25) - 7xco(1P))/f(;/)(25)js>
- 2 2

J/p(1S)nt ) g/l x I-11b'l(9 )/rlbz( )

VALUE (units 1073) DOCUMENT ID TECN COMMENT

5.1 £0.4 OURFIT Error includes scale factor of 1.1.

5.8 £1.6 OUR AVERAGE Error includes scale factor of 2.3.

4.2240.2040.97 BAI 998 BES  %(25) — vXco
7.4 +1.0 L TANENBAUM 78 MRK1 %(25) = vxcg
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1 The reported value is derived using B(y(2S) — wtn—J/y) x BU/Y — ¢1e7) =
(4.6 &+ 0.7)%. Calculated by us using B(J/y — ¢1£7) = 0.1181 =+ 0.0020.

r(XcO(]-P) - KtK= K+ K-)/rtotal X |‘(¢(25) - 'YXcO(lP))/rtotal
Ms1/T x PGS rv(25)

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
2.8 +0.4 OURFIT Error includes scale factor of 1.5.
3.20+0.11+0.41 278 L ABLIKIM 06T BES2 (2S) — ~v2KT 2K~

1 Calculated by us. The value of B(x.qg — 2K+2K_) reported by ABLIKIM 06T was
derived using B(¢(2S) — vxo(1P)) = (9.2 £ 0.4)%.

r(XcO(]-P)_) KtK- K+ K-)/rtotal X r(¢(25)—) 'YXCO(]-P))/

M (¥(2S) = J/p(1S)x*n~) Ms1/T x FYGS) réf29)
VALUE (units 10_4) DOCUMENT ID TECN COMMENT

8.0+1.2 OUR FIT Error includes scale factor of 1.5.

6.1+0.8+0.9 1Al 998 BES  (25) — ~v2Kt2K—

1 Calculated by us. The value of B(x .9 — 2K+2K_) reported by BAI 99B was derived

using B(1(25) = X co(1P)) = (9.3 % 0.8)% and B(1(2S) — J/vmT 7)) = (32.4 %
2.6)% [BAI 98D].

(xc0(1P) = ¢9)/Teotal X T(¥(25) = Yxc0(1P))/Ttotal
Y(25 2
Ms6/T x FHa>) /rv(25)
VALUE (units 10_4) EVTS DOCUMENT ID TECN  COMMENT
0.829140.034 OUR FIT
0.78 +0.08 OUR AVERAGE
0.77 +0.03 +0.08 612 L ABLIKIM 11K BES3 ¢(2S) — ~ hadrons
0.86 +0.19 +£0.12 26 2 ABLIKIM 06T BES2 (2S) — y2KT 2K
1 Calculated by us. The value of B(x.qg — ¢¢) reported by ABLIKIM 11K was derived
using B(1(2S) — vxo(1P)) = (9.62 £ 0.31)%.

2 Calculated by us. The value of B(x.g — ¢#¢) reported by ABLIKIM 06T was derived
using B(1(25) — vx0(1P)) = (9.2 £ 0.4)%.

[(xc0(1P) = 66)/Trotal % T(¥(25) = vxc0(1P))/T (¥(25) -

J/(1S)n+7~) Mse/T x FYES) /rv(29)
VALUE (units 10_4) DOCUMENT ID TECN COMMENT

2.39+0.10 OUR FIT

2.6 +£1.0 +1.1 1 gal 998 BES  (2S) —» ~2KT2K—

1 Calculated by us. The value of B(xco — ¢¢) reported by BAI 998 was derived using

B(¢/(25) = vXco(1P)) = (9.340.8)% and B(1(2S) — J/wmT 77) = (32.4+2.6)%
[BAI 98D].

M(xco(1P) = ZtPKE+c.c.)/Tiotal X T(¥(25) = Yxc0(1P))/Teotal
Fga/T x FYES) rv(25)

VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT

3.454+0.174£0.19 493 L ABLIKIM 1988 BES3  9(25) = 71X TBKE + cc.
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1 Calculated by us. ABLIKIM 19BB reports B(XEJ: — Z"’ﬁK% +cc) =(352+0.19 +

0.21) x 104 using B(¥(25) — 'yxg) = (9.79 £ 0.20)% and other branching fractions
from PDG 18.

I-(XCO(]-P)_’ ZoﬁK++c-c-)/rtotal X r(¢(25)_) 'YXcO(lP))/rtotal
Fga/T x FYZS) rv(25)

VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
2.97+0.12+0.14 871 1 ABLIKIM 20AE BES3  (2S) —» vX0pKT
+ c.c.

1 Calculated by us. ABLIKIM 20AE reports B(x0 — TO05K + cc) = (3.03 012 %

0.15) x 10~% using B((2S) — fyxg) = (9.79 4+ 0.20)% and other branching fractions
from PDG 20.
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